HARIBIER L=31. 2m

o om K s=1:500

HARBIER L=84. 4m

1637 T35
16382 13th 5&

R\ RERKIE St FEmEE
J\AKERIK )BT B 3 =7 & 2

i
¥
\S\S—\
— 480-1
1637-3
1636-11
Va 5
36-10
_—— 16379
A " o e
16331

452F 24 5%

&R J\ERKIIETEE 5 FEHE

451-2

472F51 5

J\AXERK BT B & F A8 HE

3

4
&

"

474-1

473-1

457-1

R JRERK) BT B F AR

47043t 5

HARIRIER L=69. 5m

628 1#h 5t

e J\REKNETESFEE / [E

I E4 I%
B R A BE/N\REFLR
TEER I\REKIIETEES A
HEELH FER

8 R $=1:500

£y 1] ® 15 % %15
B’ R

FOEME | BBAR RELEARN LA




